PRI K s e e

Risolvere le seguenti disequazioni fratte:

3r -2

B4 <3
2 1 B
Tr--4

235) r“ 5 i
74 R
f227

2 s

__\6) I\ 3
A

37 R LA
I = 3
1|

238) T— <0
i
Mshen

305 — o
e R
2741

34} S .
Ry

241) 3'1'_: «2.
it s

: 7
242

ARy < 4
S, 4]
] =2 8
Sl s Feed 5
Ir -2 r—1 5




245)

246)

247)

248)

249)

250)

251)

252)

255)

254)

255)

256)

257)

258)

259)

4= 7]
dz= 1

8 —z
T-—5

).

22+ 32+ 10

s L 2 0,
Z+5z-14 ©

2z —5 >0
(z—3)3(25 —9z2) =

T+ 4
2 —z

>

2.5 >
3z —1

2
3

3 4
2z —1 6z + 3

. 7+
42 — v

1 2
222 +3z -4 <

TP By -6

4 —5zx

V21

e =
e L s
b =25

<80

V212 ~ 6z

4z —12

>0

(z-1)°

0.
2z —5 5

2_4z+4 N
gt t 5 —6 [

2 + 3z

0.
| 2

61> — 132+ 7

2 —2\3z+3

322+ 14z -5
272+ 3z

<0

e

0

7 Disequazioni

114 23

5 il e
[ < AT 2 2 <:r<6]
[-7 <2<2]
§<x<§ i< 3

3 IR B

[-1<z<2]
=<5
T < =
-l<zrz<—-—= z>1—ﬂ
2_

16 ]
_—5—§I<_27I>3

|2 <=8 vz

[Es™=3; =1 <z, T L]

i s
iS6

3 1
I<~5,—§<I<0,z>3—}

429




Disequazioni

260)
261)
262)

263)
264)

265)

266)
267)
268)

269)

270)

271)

272)

V2z(z - V2)

0,1
23 —-3z2+3z—-1— [ZS » 1 <
T —= ) ‘
: o e , :
3252 <0 [z< . 3<x<0 0 <15
2(z —4)(1 — 1)
IS TR bo<0, Lo
z—923 2 1 1 ‘
e e 1] —= — 250) -
3 —z-2 [ 35S gl STS
z4—2$3—63z2>0 — 1 ;‘,
20 itnl 3 2! .
1 — 22 +1
( zZ(\/Z_z ) 0.
T4 -7
I:m<—\/7,—lgzgi2—2—,lgx<
]_i)'] [——<I<
T
e ] 1
St i 5 -V2<z<
(z+V2) ¢ [
1 -l->1 : 11< < —]. 1 <ok
22-1 5 Y FovE Saeh z
3z+2+l> 1 5 "
el 3 T—1z < nel
2 1 1
L <
e o . [z < 0, OF<SgES
. intol SNENN v Y
e S S Rt a0

17 ‘
[——3—§1r<—5,5<a;§




275)

276)

277)

278)

279)

280)

281)

282)

283)

284)

285)

7 Disequazioni

Qre | r—2 9 2
+ = 2 ==
_12 53 % [2<z§ 3,1<1§3J
2 8 Ttd I Tt
4] z2ia | ot 1
5
[z<—5,—l<z<1,z>4}
z+V2
/22 [z>\/2—}
AL
2
¢ —3z+2 5
- > 1 — 3 4
22 —Tg+12 ~ [2<I<’I>;
3(1 — 1) it o) D |
e e e ) -4 -1 1
22+ 3z 4 T4 =] (754, R
prtelde 5 3 (i-—31.) T—6
_ . —8 6
T+ 8 T —=6—~452 3 Dp-—48 ! A5 E
21 10 4 18
—— : 0 —. 3
~ : e [z< ,2<z<7, <-z<7J
513+22~2Oz—4
=0k
473+ 1222 — 94 _ 27
3 1 3
-3, — -, —= - 2
[z< 3, 2<z< i 5<x<2,z>}
4z -3 32t 10 1

o
Nz_3) “P_37_3 4(z+1)

z* — 561+ 95
2 —Tz+ 10

h<~¢§—¢§<r<¢§2<z<¢§z>¢ﬂ

-8>0.

§24 110 -1
b A 0
(c-1)P+1° Leey
5 _14
el L AIREN [£<-3,2>0]
7 k3 e
2772 = 27 6 ik e 1
- — ( - T< —=
TN B 22 e A L D ] 3

431




Disequazioni

286)

287)

288)

289)

290)

291)

292)

293)

294)

295)

296)

297) -

298)

299)

300)

e —~2 z—1 3(z+1)

2 —10z+21 -3 -7

[z£0,3<z<5, 250
22(z-3) | 2z +6z L8
@2 — 43+ 3 2 —2z+1

gl 3: 60z —1)
TR, PN T A T

>0z [-2<z< 1, z>4]

[-1<z<1,3<2<0

7 (z —2) 222 +52+3
2 —5z+6 T2 —23—3

<0. [z < -1]

Sl ) TR <0 Fe s e -2, B
922 + 152 -6 i 5ite

e X, g o] PR
2¢ 2g2+5z 2z2+5 RS TR

I 31 9 I
+ + ot iy
T+ 1 I2_l<2 ST [zx=l2, -F<z< 1, 50
B 3 =y
el z [-I<z <1, 250

e e TR Yt T

zz(z = 2)3(x+ 3)

T YTy >0. [=3 <z 070 <2<2, 2508

(z+5)(z=V3)(z+V2) S
(2z-3)(4z+5) '

Seee
<=5, —V2<z<-3, > <1<V3|

42 J

23 18 VJ‘ @200 1)
- — 31 — :
——— >0. + ,
e e [-3<2<6,6<2<T

-3 +2 !
S'I—)‘(—I——)<1- [-5 < z < —1"ETa

D

3z+4 <@ 7
g ednts " o
27° + 18z - 4

2 +9z+8 = [z<- E
1 2 3
+ — —_ —

T 15+ 3V 38 g " [-3<z<-2, -1<2%



	File0001
	File0002
	File0003
	File0004
	File0005

